1. 4vV5+3V20- V45 =A+5 & 1, A 9] gke9

@ 10 @9 ® 8 @7 ® 6

4V54+6V5-3V5 =7V5=A5
LA=T
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3. 4V54+6V2+3V5-4+2E 75| 51A?

© V5-2v2 @ V5+4V2 ® 2V5+5v2
@ 7v5-2v2  G)7V5+2v2

4V5+6V2+3V5-442
=(4+3)V5+ (6-4)V2
=7V5+2v2
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®p=0 @ p<0 @)k >0 @ k<0 ® k>0
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1A 2(x-5) = m 9 Zo] 1 ALY W, ©] & a e}
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7. o FAACNA V43 of ti-gshs A2

© A @ B ® C @)D ® E

V36 < V43 < V49
L 6< VA3 <7
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thS 4E50] 9)x|6t= 171} Hl2 A AZE

2] 2 AL?

o

D 1-+2:B @1+ V2:E
@2-v8:¢c  G)v5-4:D

®2++V5:G

B

@ -Vi<-V2<-Vi
I-Vi<1-V2<1-+1
L-1<1-42<0:B

@ Vi< V2< V4

1+ Vi<l+V2<1+ 4
L2<14+V2<3:E

® Vi< V5< 9

24 VI<2+ V5<2+ 9
~4<2+V5<5: G

@ -Vi<-V3<-V1
2-Vi<2-V3<2-+1
~0<2-V3<1:C
®Vi< V5< 9
Vi-4<V5-4<+0-4
n-2<VY5-4<-1:A
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10. BHAPAG] Wol7h a2 + 4x—y? — 4y o], WA Bol7}x—y
uj, o] BaAw g o] Folg Fotu?

®© x+y-4 @ x-2y+4 @ x+2y+2

@x+y+4 ® x+4y+2

-y +4(x-y) =(x+y)(x-y) +4(x-y)
=(x+y+4)(x-y)




11. 4xy—2x-2y+1 2 AFEoMSHH (ax+b) (cy +d) D ™, a+b+c+d
o] gk& Fstd?

0 @ ® 3 @ 4 ® 6

dxy—2x—-2y+1=2x(2y—-1) - (2y-1)
— (2e-1)@2y-1)
La+b+c+d=2-1+2-1=2
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@ a’+1 © a*-1 © a+1
® a-1 @ a®>+1

D14 @24 @3AH @44 6 @

B \
ad-a*-a+1=a*a-1)-
= (a® - 1)(a 1)
=(a-1)*(a+1)
OA @ —a? —a+ 19 538 A2 ©, ©, @°|BE A7t
ofd A2 F2 27o[ct.




